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1. FEHE (VY U H)

ORRE I 1EE

HLE BN 2,759kg A | FE(g)=—0.00000247 X M2—0.000852 X M+ 30.65
Hl B 2,759kg UL L | FE(g)=9.5

(FE(g) : 7YV HEOBRELEFEkm/L), M : EiljfE&(ke), FE@I3/MNURE (7
ZAL'ECE NN

2. FMHE (LPG H)
ORRE FEHEE

FE(1)=FE(g) X 0.74
(FE() : LPG HOMRE UM (km/L), FEOIZ/NEUEE LI F 2810 Fi)

3. EHHE (74 —E/NIH)
OJRE: FLUEAE

FE(d)=FE(g) X 1.1
(FEW) : 7« — Y EOMRE I EE(km/L), FE@Z/NOE (T 280 B
fiti%

1. THWEE] &if, ERESHEEOMRZEEE (IFF 26 4EfHmE 558 67 =) &1 5%
H6 SICHETAERINEBICBITAEBIEOEEL VD,



